162

Laper pin

/9

C-0001
C-2030
C-2031
C-2066
C-2066-A

C-2068
C-2069
C-2070
C-2071
C-2071-A

C-2072
C-2072-A
C-2072-B
C-2073

C-2096
C-2098
C-2099
C-2105
C-2137
C-2262
C-2403
C-2411
C-2582
C-2583
C-4008
F134

#135

WOTTT edr "

Cracker frame (with bushings)
Chain adjustment cap w/#189 key
Sprocket adjustment bearing w/#189 key
Cracker drive shaft :
Cracker Drive Sha‘t w/C-2411
steel worm & #155 woodruff key assembled
Lower chain sprocket, 20 tooth
Drive shaft gear, 30 tooth with keyway
Sprocket shaft gear, 30 tooth with taper pin
Sprocket drive shaft w/#148 taper pin
Sprocket drive shaft assembled
w/C-2069 drive gear & #148 taper pin
Pinion gear and shaft assembly
Pinion only w/#4 taper pin
Pinion gear only w/#4 taper pin
Feed chain drive shaft (worm
gear shaft) 18-7/8 or 19-5/8
Eccentric washer
Vibrator eccentric
Vibrator shaft w/C-2097 connector
Stationary die
Bronze worm gear-hub outside or inside
Drive shaft pin
Motor bracket
Steel worm, hardened and polished
Vertical brace plate
Horizontal brace plate
Drive gear
3/8" x 3/8" Allen head set screw
1-1/4" x 1" x2-1/4" bronze bushing

#136
#137
#138
#139
#140
#141
#142
#143
#144
#145
#146
#147
#120
#149
#150
#151
#152
#153
#154
#155
#120
#157
#124
#159
#160
#161
#162
#163 |

#189 .

#193

R

1-3/4" x 1-1/2" x 1-1/2" bronze bushing
5/8" hex nut

7/16" x 5/8" x 3/4" bronze bushing
1-1/4" x 1" x2-1/2" bronze bushing
1" x 3/4" x 2" bronze bushing

1" x 3/4" x 1-3/4" bronze bushing
1-1/8" x 7/8" x 1-3/4" bronze bushing
1-1/8" x 7/8” x 2" bronze bushing
1-1/4" x 1" x 3" bronze bushing
3/8" x 1" hex head cap screws
3/8" lock washers

1/4" x 1/4" x 1-3/4" key

#7 x 2" taper pin

1/4" x 1-1/4" key

7/18" x 1" x 3/16" washers

7/18" x 1-1/4" hex head cap screws
3/8" x 3/8" Allen head set screw
3/8" x 5/8" square head set screw
3/8" x 1/2" square head set screw
19 x 3/16" x 1-1/4" Woodruff key
#7 x 2" taper pin

3/8".acorn nut

Oil pipe, 1-1/4" long

Oil pipe, 3-1/4" long

Qil pipe, 4-1/4" long

Oil pipe, 8-1/2" long

= 0il cup

Plug
1/4" x 1/4" key
#4 x 1-1/4" taper pin




